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1. 
$�%�
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(���3
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$�%�
����3
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�5�������
�������� +/��3�������$�1���5�������
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3.  
$�%�
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1.  ��-���� 0�����4	��.��8���8 6������

1.1 �,��/���
��%����* :&%�
�;�3�..,��%/�.��/���.��/��/��< +�����-�3���=������������$
���
�'�� 6����� 
	��+�����%���
�'�� $�1���� �,-
�'������������

1.2 �,��/��-������%��
��0�+/��3���+/��3����5�������
�������� +/��3�������$�1��
�5�������
�� �,-+/��3�����%�6�0��2�
(���3
�4� 	��+������4����� ��%��-��3����$���
�'�� 	2����
20,695 .�

2.  �,��/�������� 0�����4	��.��8���86������
2.1  �,��/���
��%����* :&%�
�;�3�..,��%/�.��/���.��/��/��< +�����-�3���=������������$

���
�'�� A��0���49����.��
,����33
	�-	� :&%�����4	��6���2����$4	��=�	���,��/��-���� 6������




	��+�����%���
�'�� 	2����  3  .� $�1���� 	2����  2  .� �,-
�'������������ 	2����  2  .�
��/�,��/�����������
��%����*�������
�'��  7  .�

2.2 �,��/��-������%��
��0�+/��3����5�������
�������� +/��3�������$�1���5�����
��
�� �,-+/��3�����%�6�0��2�
(���3
�4� 	��+������4����� ��%��-��3����$���
�'�� 	�� 3 �2�3,
6������ �2�3,A.��-
.��� �2�3,���� �,-�2�3,���/�� 	2����  20,695  .� A���2����.��
,����33
���/���������33�3����8� /�	��+/��3����5��������
�������� +/��3�������$�1���5�������
�� �,-
+/��3�����%�6� 	2����  150  .� ���
�;�+/��3����5�������
�������� 	2����  45  .� +/��3�������
$�1���5�������
�� 	2����  45  .� �,-+/��3�����%�6� 	2����  60  .�

3.  
.��%��/���,-��������
.��%��/��

.��%��/�����%0��0����
�C3��3��/���/�,
�;��33��/(�'=�  �,-�33��3<�/  :&%�����4	��6�������

�&8�  �����8
3.1 
.��%��/����-
(��33��3<�/ 
�;��33��3<�/��4��,���D�  (Close-ended

Questionnaire) 
��%����3�(�$ .��/������� �,-������0����$�1������$ 	2���� 5 ����� 6������
1)  ����,��'=-����$  2)  ����.��/��� ���'- �,-.��/�2���*  3)  ��������,-������  4)  ����������
�����=� �,-
�.A�A,��0����$�1������$ �,-  5)  ��������,��

3.2 
.��%��/����-
(��33��/(�'=� 
�;��33��/(�'=��33/�A.������� 
��%����3�(�$
�)*+� .��/������� �,-������0����$�1������$
�'�����/�����-�����������2�
(���3
�4�
	��+������4����� 	2����  5  ���� 6������  1)  ����,��'=-����$  2)  ����.��/��� ���'- �,-.��/�2���*
3)  ��������,-������  4)  ���������� �����=� �,-
�.A�A,��0����$�1������$  5)  ��������,��

4.  ���
�C3��3��/���/�,
4.1 ���
�C3��3��/���/�,��-
(��33��3<�/ :&%�
�;����
�C3��/��/���/�,
��%����3�(�$

�)*+�  .��/�������  �,-���������$�1������$�2�+��3��-����+/��3����������2�
(���3
�4�  
	��+������4����  0���49����
�C3��3��/���/�,	�������3�33��3<�/	���,��/�����������8�+/�  150  .�  

/�%������%  4 $U'(�./ 2546

4.2 ���
�C3��3��/���/�,��-
(��33��/(�'=� :&%�
�;����
�C3��/��/���/�,
��%����3
���������$�1������$�2�+��3��-����+/��3����������2�
(���3
�4�  	��+������4����  0���49����
�C3
��3��/���/�,	����/(�'=��,��/����������8�+/�  7  .�  
/�%�������%  20 9����./  2546

5.  ����4
.��-+����/�,�2�
�4���� �����8
5.1 ����4
.��-+����/�,	���33����3 �����% 1 ���������	��	�.��/<�%�,-+�.������,-
5.2 ����4
.��-+����/�,	���33����3 �����% 2  :&%�
�;����
&�'��(�$�)*+�



.��/������� �,-������0����$�1������$�����-����0�+/��3����5�������
�������� �,-
+/��3�������$�1���5�������
�� ��//�������33 Likert Scale �2�/��4
.��-+��������+�.��
Z,�%� �,-
����
3�%��
3�/���[��

5.3 ���
����3
���3.��/��������-+�����(�$�)*+�0������-��3����$ �,-.��/
�������0����$�1������$�-+������-����+/��3���������  3  ��-
(� 6������ +/��3����5�������
��
������ +/��3�������$�1����
�� �,-+/��3�����%�6� A��0������ F-test 

5.4 ����4
.��-+����/�,�33��/(�'=� 
�;�����4
.��-+����
�����-
��%����3������
0����$�1������$�����-����+/��3����������2�
(���3
�4� 	��+������4����� A���49�����4
.��-+��

��8�.��/���,-��-
�C��,������0�
�4�3�����A��0+����
��%����*���	��3

��*�,��
��()�&
1.  �,���
&�'��<��(�$��������3�33��3<�/  .��  ��-����+/��3���������  3  ��-
(�  

6�����  ��-����0�+/��3����5�������
��������  �,-��-����0�+/��3�������$�1���5��������
��  
��3+/��3�����%�6�  $3���  �����3����0+*�
�;�
$
���  A��/������-+����  31-40  �]  :&%�/����6���-+����  
30,000-49,000  3������]  �,-/���-�3���=�0�����$
�'�����/�-+����  11-20  �]�

2.  �,���
&�'�.��/.4�
+C�
��%����3�(�$ .��/������� �,-�����������-����+/��3���
������ 3 +/��3��� 6����� ��-����+/��3����5�������
�������� (���.)  ��-����+/��3�������$�1��
�5�������
�� (�$�.)  �,-��-����+/��3�����%�6�  ��/��<�����,����4	��6�������8

2.1  �,���
&�'�.��/.4�
+C�
��%����3  �(�$�)*+�0������-��3����$�����-����
+/��3����������2�
(���3
�4�  	��+������4����  0�(�$��/  $3���  ��-����	-/��)*+�0��������  8  
����  6�����  ����,��'=-����$  ����.��/���  �������'-.��/�2���*  �������  ����������  ����������
�����=�  ����
�.A�A,��  �,-��������,��  �,-
/�%��4
.��-+�
�;����+/��3���0�(�$��/  $3���  +/��3���
�5�������
�������� (���.)  	-/��)*+���%�2�.�*��%����6����3������6�
�;�,2���3���  �,-
�;��)*+�0�
�-��3/��  .��  
��%��
�4����  A��
Z$�-�)*+�
��%��
�4����0������-��3����$����,��$��  6�����  
�4����
0�����,������  ����,��_)����  �,-����,��$�4�  �2�+��3�)*+�
��%��
�4����0������-��3����$���

,�8�������  6�����  
�4����0����
,�8�����  ����  �,-6��$�8�
/���  ����0�
��%����%� `  
�;��)*+�0��-��3���
�,��  �2�+��3+/��3�������$�1���5�������
��  �,-+/��3�����%�6�  $3��� �(�$�)*+�0��������
�;�
�)�*+�0��-��3����,��  6�����  ����.��/���  �������'-.��/�2���*  �������  ����������  ����������
�����=�  ����
�.A�A,��  �,-��������,��  ��������,��'=-����$	-
�;��)*+�0��-��3����
���
�������



2.2  �,���
&�'�.��/.4�
+C�
��%����3.��/�������0������-��3����$�����-����
+/��3����������2�
(���3
�4�  	��+������4����  $3���  ������%��-����/�.��/�������0������-��3
����$0��-��3/��  2  ����  6�����  ����,��'=-����$  �,-��������,��  �2�+��3���  6  ����  6�����  ����
.��/���  �������'-.��/�2���*  �������  ����������  ��������������=�  �,-����
�.A�A,��  
�;�������%
��-����/�.��/�������0��-��3����,��  �,-
/�%��4
.��-+�
�;����+/��3���  $3���  ������%+/��3���
�5�������
�������� (���.)  /�.��/�������0��-��3/��  .��  ����,��'=-����$  �,-��������,��  
�����8�����0��-��3����,��  :&%�0�����,��'=-����$  6�����  .��/�������$�1������$����,������  ���
�,��_)����  �,-����,��$�4�  ��/<&�.��/�������$�1������$���
,�8������  ���
,�8��6��$�8�
/���  �,-
���
,�8��
�;�  �C
�;�.��/�������0��-��3/��
������  ����0���������,����8�$3���  .��/�����������
����,��0����$��1������$����,��$��0��-��3/����8�  .��  �������	��+��+,��	2�+��������  �,-.��/
���������������,��0����$�1������$����,��$��0��-��3/��  .��  .��/��������+,��	2�+�������  
����  �,-6��$�8�
/���  ����2�+��3+/��3�������$�1���5�������
�� (�$�.)  �,-+/��3�����%�6�   	-/�.��/
�������0�����,��'=-����$
+/������:&%�
�;�.��/��������-��3/��  .��  .��/�������$�1������$���
�,������  _)����  �,-$�4�  ��/<&�.��/�������$�1������$���
,�8������  6��$�8�
/���  �,-
�;�  �����8�
	-
�;�.��/�������0��-��3����,��
+/������  

2.3  �,���
&�'�.��/.4�
+C�
��%����3������0����$�1������$�����-����+/��3���
�������2�
(���3
�4�  	��+������4����  $3���  ��-��������0+*�
+C�������3���������������
��4/
$�%�
$�1������$0��������  6�����   ��������.��/���  ���'-.��/�2���*  �������  ����������  ����������
�����=� ����
�.A�A,��  �,-��������,��  �,-
/�%�$4	��=�0�(�$��/
�;����+/��3���  $3���  
��-����+/��3����5�������
��������/�.��/
+C�������3���������
��4/���$�1������$����,��$��
0��-��3/����%���  .��  ������
��4/���������  �����=����
�C3
��%��  �,-����
�.A�A,��  ��%
����
��%�����
�,������  �,-
+C�������3������������
��4/���$�1������$���
,�8�������0��-��3/����%���  .��  ���
���
��4/
�.A�A,�����.��
,���$��9��  ��%
���
��%�����
,�8���,�  ����+/��3�������$�1���5�������
�� 
(�$�.)  $3���  ��-����/�.��/
+C�������3���������
��4/���$�1������$����,��$��0��-��3/��
��%���  .��  ������
��4/���������  �����=�0����
�C3
��%������  �,-����
�.A�A,��0�����,��_)����  �,-

+C�������3������������
��4/���$�1������$���
,�8�������0��-��3/����%���  .��  ������
��4/

�.A�A,�����.��
,���$��9���,�  �2�+���3+/��3�����%�6�  $3���  ��-����/�.��/
+C�������3������
���
��4/���$�1������$����,��$��0��-��3/����%���  .��  ������
��4/���������  �����=�0����
�C3
��%��
����  �,-����
�.A�A,��0��������3��a��������,��_)����  �,-
+C�������3������������
��4/���
$�1������$���
,�8�������0��-��3/����%���  .��  ������
��4/
�.A�A,�����.��
,���$��9���,�  �,-0�����



����,��  $3���  ��-����+/��3����5�������
�������� (���.)  �,-��-����+/��3�������$�1��
�5�������
�� (�$�.)   
+C�������3������������
��4/��������,��	2�+����
�;�0��-��3/����%��� ����
��-����+/��3�����%�6�
+C�������3���������
��4/��������,��	2�+������8�����,-
�;�0��-��3/����%���  
��	
�;�
$��-���  �����
+,����8/��,��	2�+����.�����������  �����8�
�;��4�.����%3�4A(.�������  
�;�  �,-  ���  
	-6/�
�;���%�4�/�2�/�3�4A(.6��/��
�����36��  �,-�����

3. �,���
����3
���3.��/��������-+����.��/.4�
+C���������-��3����$�����-����
+/��3��������� �2�
(���3
�4� 	��+������4���� 0�(�$��/�-+������-����+/��3����5�������
��
������ (���.)  +/��3�������$�1���5�������
�� (�$�.)  �,-+/��3�����%�6�  ��/��<������,����4	��6���
�����8

3.1 �,���
&�'�
����3
���3.��/��������-+����.��/.4�
+C�����(�$�)*+�0����
��-��3����$�����-����+/��3��������� �2�
(���3
�4� 	��+������4���� 0�(�$��/ $3��� ��-����
��8�  3  +/��3���6��0+�.��/.4�
+C�0�(�$��/���������������6/�/�����2�.�*����<4�4��%�-��3  0.05  
0�  8  ����  6�����  ����,��'=-����$  ����.��/���  �������'-.��/�2���*  �������  ����������  
��������������=�  ����
�.A�A,��  �,-��������,��

3.2  �,���
&�'�
����3
���3.��/��������-+����.��/.4�
+C����.��/�������0����
��-��3����$�����-����+/��3���������  �2�
(���3
�4�  	��+������4����  0�(�$��/�������  $3���  
��-������8�  3  +/��3���6��0+�.��/.4�
+C�0�(�$��/���������������6/�/�����2�.�*����<4�4��%�-��3  
0.05  0�  8  ����  6�����  ����,��'=-����$  ����.��/���  �������'-.��/�2���*  ������� ����������  
��������������=�  ����
�.A�A,��  �,-��������,��  

3.3  �,���
&�'�
����3
���3.��/��������-+����.��/.4�
+C����������0����$�1��
����$�����-����+/��3���������  �2�
(���3
�4�  	��+������4����  0�(�$��/�������  $3���  
��-������8�  3  +/��3���  6��0+��.��/.4�
+C�0�(�$��/���������������6/�/�����2�.�*����<4�4��%�-��3  
0.05  0� 6  ����   6�����  ����.��/���  ���'-.��/�2���*  �������  ����������  ����
�.A�A,��  �,-����
����,��  �2�+��3��������������=�  ��-������8�  3  +/��3���6��0+�.��/.4�
+C�0�(�$��/����������
�����/�����2�.�*����<4�4��%�-��3  0.05  .��  ��������-+����+/��3����5�������
�������� (���.)  �,-
+/��3�������$�1���5�������
�� (�$�.)  

4.  �,���
&�'����������$�1������$�����-����+/��3��������� �2�
(���3
�4� 	��+���
���4����� ��/.��/.4�
+C�������
��%����* 0��������� ` ����b�,�����8

4.1  �,���
&�'�.��/.4�
+C�����(�$�)*+�0������-��3����$�����-����+/��3���  
������  �2�
(���3
�4�  	��+������4����  ���
��%����*
+C������-����0��2�
(���3
�4�  	��+������4����  



����0+*�.�� �����%�$�$/�	����%(�/4,2�
����%�  �,-����,-  60  �&�����$
�'�����/
�;�+,��  
�'����

+,����8
�;������
������2�����$
�'�����/A��0��(�/4�)**���%/������%�
�4/	&�6/�.�����/��3���.��/����33
�/��0+/���/<&�
�.A�A,����/��%�����[6��
���6����
��4/�,-����
+,��  �4%���%
�;��)*+�/��.��  /��+,��

�4����
�;�	2����/��(��0�+/��3������6/���/��<�2�/�0��0+�3��,���/
�5�+/��������,-
�5���-��.�
����+,��
�4����6��  0�
��%��������	-$3����4�/6�0��������0�(�/4,2�
����%�  �,-0��)*+�
��%�����
����,��$3���  �4�.����%�,4�6/�.���6��/���[�������/.��/�����������,��  �,-�,��/�����  <&��/��
	-/��,�����.��������6��-��/$���  ��%����	�/�C��/����,�,4���%�2�6�	2�+������%��%�����/��.��$��.��
���0+*�	��(�/4,2�
����%�
�;�����2�6�	2�+����  ��-����+/��3����������2�
(���3
�4�  	��+������4������%
�2��,�,4��4�.��6�	2�+��������,������	�//�	2��������

4.2  �,���
&�'�.��/.4�
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